T o e

48=12x
What is CLXVI?

Round 0.7 to the nearest
whole number =

43 =
3638 + 34 =

L e 2
Slmpllfyz =
4642 x 6 =
_ =753-125
360 + 100 =
17-4.6 =

72=12x
What is DCCXXXII?

Round 4.17 to the nearest
whole number =

73 =

5712 +42 =
T
Slmpllny—
8354 x 6 =

_ =1643-853

2605 + 1000 =
29-13.94 =

84=7x_
What is MDCCLXXXVII?

Round 15.289 to the nearest
whole number =

93 =

8120 + 56 =
. .. 8
Slmp|lfy3—2—
13643 x 6 =

_ =36424-9753

7.3 +1000 =
165 —-97.035 =



48 =12 x4
What is CLXVI? = 166

Round 0.7 to the nearest
whole number =1

43 = 64

3638 + 34 =107

Simplify% = %

4642 x 6 = 27852
628 =753 - 125
360+100=3.6
17-4.6=12.4

72=12x6
What is DCCXXXII? 732

Round 4.17 to the nearest
whole number =4

7° =343

5712 +42 =136
e 41
Simplify =3
8354 x 6 =50124
790 = 1643 — 853
2605 + 1000 = 2.605

29-13.94=15.6

84=7x12
What is MDCCLXXXVII? 1787

Round 15.289 to the nearest
whole number = 15

93 =729

8120 + 56 =145
.8 1
Slmpln‘y3—2 =7
13643 x 6 = 81858
26671 = 36424 - 9753
7.3 +1000 =0.0073

165 —-97.035=67.965



